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The mechanical loss of a pendulum suspension, ϕpend can be shown to
be [1]
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The ratio of the gravitational spring constant kgravity to the elastic spring
constant of the suspension fibre kfiber is the pendulum dilution factor D.
Here T, Y, I, m, g, l are wire tension, Young modulus, moment of cross
section, mass which is suspended by wire, gravity constant and wire length,
respectivelly.
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Here d is wire diameter.
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Table 1: Pure Al Wire Case

CLIO KEK
Young modulus Y 70 GPa
Mass m 0.450 kg 0.150 kg
Wire diameter d 0.5 mm
Wire length l 0.400 m 0.100 m
Number of wires 4 1
Dilution factor D 8.7e-3 6.0e-2
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